a2 I N A AL vl = - P O LA
O N ’ / ale N L / g = D QO 2N A AD 41Q = O = = 4

AxXA3 = nAx + XAX
77 96 -117 -140 -165 -437 -480 -525 -572 -621

112 -135 -160 432 -475 -520 -567 -616

-105 -128 -153 « . ‘ -468 -513 -560 -609

-119 -144 , -600

AXA3 = nAx + xAX

-108 -133 589

-120 576

4*7=28
6,8=14

32 17 544

c1 | a6 343=40*7 + 9*7 e
343=33*7 + 16*7
72 57 504
343=24*7 + 25*7
il 343=13*7 + 36*7 481

168 343= 0*7 + 49*7
24*7=168 1,13=14 + 3 STEPS =7 STEPS J429

16*7=112 \
12,16=28

33*7=231 5,16=21 120 93 64

-105 561

155 99 68

192 136 105
25*7=175
15,20-35 [

206 185 152 117 80

AXA3 = nAx + xAX

288 2 228 195 160 123 84

“

45*7=315 13,22=35 F 240 205 168 129
432 125'» 252 |

18,24=42
481 4 o1 264 225 184

343=40*7 + 9*7/ 532 e 48*7=336 17,25=42 SAGCEEPYGREPRS

343=33*7 + 16*7 585 533 504 473 440 405 368
343=24%*7 + 25*7 ‘ 49*7=343

640 588 559 528 495 460 21,28=49
343=13*7 + 36*7 m

49*7=343 21.28=49
697 645 616 585 552 517 ’
343= 0*7 + 49*7

3 STEPSl+ 4 STEPS =7 STEPS 756 704 | 675 | 644 | 611 | 576

. 817 765 736 705 637

~ I\

pyright© 20 egin
880 828 799 768 700

945 893 864 833 765

1012 960 931 900 832

1081 1029 1000 969 901

1152 1100 1071 1040 972

1225 1173 1144 1113 1045

1300 1248 1219 1188 1120

1377 1325 1296 1265 1197

1456 1404 1375 1344 1276

1537 1485 1456 1425 1357

1620 1568 1539 1508 1440

1705 1653 1624 1593 1525

1792 1740 1711 1680 1612

1881 1829 1800 1769 1701

1972 1920 1891 1860 1792

2065 2013 1984 1953 1885

2160 2108 2079 2048 1980

2257 2205 2176 2145 2077

2356 2304 2275 2244 2176

2457 2405 2376 2345 2277

2560 2508 2479 2448 2380

2665 2613 2584 2553 2485

2772 2720 2691 2660 2592

2881 2829 2800 2769 2701

2992 2940 2911 2880 2812

3105 3053 3024 2993 2925

3220 3168 3139 3108 3040

3337 3285 3256 3225 3157

3456 3404 3375 3344 3276

3577 3525 3496 3465 3397

3700 3648 3619 3588 3520

3825 3773 3744 3713 3645

3952 3900 3871 3840 3772

4081 4029 4000 3969 3901

4212 4160 4131 4100 4032

4345 4293 4264 4233 4165

4480 4428 4399 4368 4300

4617 4565 4536 4505 4437

4756 4704 4675 4644 4576

4897 4845 4816 4785 4717

5040 4988 4959 4928 4860

5185 5133 5104 5073 5005

5332 5280 5251 5220 5152

5481 5429 5400 5369 5301



21,28

1*7=7   3,4=7

4*7=28    6,8=14

9*7=63    9,12=21

16*7=112    12,16=28

25*7=175    15,20=35

36*7=252    18,24=42

49*7=343    21,28=49

Ax^3 = nAx + xAx

48*7=336   17,25=42

45*7=315   13,22=35

40*7=280   9,19=28

33*7=231   5,16=21

24*7=168   1,13=14

13*7=91   3,10

49*7=343   21,28=49

Ax^3 = nAx + xAx

7^3=343 = nAx + xAx
      343=48*7 +  1*7
      343=45*7 +  4*7
      343=40*7 +  9*7
      343=33*7 + 16*7
      343=24*7 + 25*7
      343=13*7 + 36*7
      343= 0*7 + 49*7


Ax^3 = nAx + xAx

7^3=343 = nAx + xAx
      343=48*7 +  1*7
      343=45*7 +  4*7
      343=40*7 +  9*7
      343=33*7 + 16*7
      343=24*7 + 25*7
      343=13*7 + 36*7
      343= 0*7 + 49*7


Example: 7 = 343=315 + 28

3

3 STEPS   + 4 STEPS   =7 STEPS

4 STEPS   + 3 STEPS   =7 STEPS
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